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A. Go through the list below and mark Row C with a (v) for those that are the
same, or an (X) for those that are different:

Row A Row B Row C
1 N347 M347
2 202002 202002
3 11011000 | 11001100
4 6400-01 6040-01
5 231507 231705
6 121456 121654
7 20007846 | 20007846
8 100013452 | 10013452
9 B794 794B
10 640000 604000

B. Please read the following advert and then answer questions 1 to 5 by circling
the correct answer(s):

FLAT TO RENT
This flat is the top floor of a Victorian property in the Eastlands area of Lincoln with good
transport links to the City Centre & University. The property comprises of entrance hall,
2 bedrooms, kitchen & bathroom & large reception room with bay window overlooking a
(1) C—1 park in this (2) C— residential area. To view contact FPS lettings,
South street, Grantham. GT1 3XL

1. The missing word in box 1 is:

| Lovely | Lovly | loveley
2. The missing word in box 2 is?

| quite | quiet quit |
3. The Flat is in the city of?

| Grantham | Lincoln | Nottingham

4. The area has good transport links to? (circle 2 answers)

| The local golf course | The University | The Supermarket | The City Centre |

5. What is the residential area called?

| Southlands | Docklands | Eastlands |
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C. Please read the following statement and then answer questions 1 to 5 by
circling the correct answer(s):

Anthony & Owen are traveling around Europe on a driving holiday, for the first leg of
their journey they are planning to go from Paris to Madrid (distance of 1300kms), then
from Madrid to Barcelona (620kms) & then from Barcelona to Milan (980kms). They
calculate that they will travel at an average of 100 km per hour & plan on stopping
overnight between Paris & Madrid.

1. What is the total distance that Anthony & Owen will be traveling on this leg of their
journey?

| 2800kms | 2900kms | 3000kms |

2. If Anthony & Owen stop exactly halfway between Paris & Madrid how many kms will
they travel each day?

| 650kms | 65kms | 700kms |

3. If Anthony & Owen managed to do the Madrid to Barcelona leg in 5 hours what would
be their average traveling speed?

| 124kmph | 1240kmph | 12.4kmph |

4. If Anthony & Owen decide to do the bulk of the Paris to Madrid journey on the first
day and managed to travel 950kms before they stopped how many kms would they
need to travel on the second day to reach Madrid?

| 45kms | 650kms | 350kms |

5. Anthony is planning to drive the 15t 600kms of the Barcelona to Milan journey. How
many kms would that leave Owen to drive?

| 98kms | 980kms | 380kms |
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